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®7+6=12 @ 3+x=4-x

® 5x=0 @ x*+x-2

® 4(x-2) = -8 +4x
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D 4x+5=9—>4x=9-+5

O 5x+2=06x—>5x—6x=-2

© 3x+5=6x-8—>3x-6x=-8-5
® -2x+3=3x-2—>-2x-3x=-2+3

@ x-1=-x+3->x+x=3-1
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@ x-9=18+x

@ x*-3x

D 3x-2=x+7

-9

@ 4x-2=5-4x

® 5x-17=0



@ 2(x+1)=-x+3

D 2x-1=2

@ -(x+1)=x-5
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®4-(x-1)

® 5=2(x+1)
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@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x
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@ 0.07 x 300 + x = 0.05(300 + x)
@ 0.07(300 + x) = 0.05(300 + x)
® 0.07 x 300 = 0.05(300 + x)

@ 0.07 x (300 + x) = 0.05 x 300

® 0.07 x 300 = 0.05 x 300
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© 2+a-x

2a—b

@ 2a-b=+3

a—XxX

—0.a

® 01x(-1)xa

® c¢x(-3)xa=-3ac
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® 0,06,06, 06

® 6 e
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@O 3xxXxXyx(4dxa+b+Db)
@ 3xxxxXyX(4dxaxbxb)
® 3xxxyxy=(4xa+bxb)
@ 3xxxxXxy+(dxa+bxb)

® 3xxxyxy+4dxa+bxb
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15. 5-{3x+1-2(x-7)} +7x S 7t

@6)6 @6x+8

@ 7x+8 ® 7x-10
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16. osa+b o Fol 7Kg 2 A0

@ Bx-2)x2=ax+b

3 /4 )
—_— — —2 =
@) 2(3x ax+b
® 4(2x—16>+x:ax—b

@ 2x+1-(3x-3)=ax-b

® (10x - 15) x (-é) —(-3x+1)=bx+a



17. thea e A

4x—-1 x+3

@ %(2x—4)+(x—3)
@ (3x+2)- {%(16)(4—4)—3}

® 4.5x+9-72

1 4
@ gx—g+(2.5x+2)

7
® 02" (0.4x - 0.3)
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@ 5x+ 7y @ —5x+ 8y ® 3x+ 8y
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